





The average weight of 35 students in a class is 35 kg. If the teacher is also included, the
average weight increases to 36 kg. The weight of the teacher is

(A) 36 kg

(B) 35 kg

(C) 70 kg

(D) 71 kg
Ry adlui 35 ez AR 4% 35 B 8. B Ruats-l wa Wi 2, d A3 L 36

(el iy 8. Masd ar S,
(A) 36 Bsu
(B) 35 [331
(C) 70 33

(D) 71 (3
A watcr tank can be filled by a tap in 4 hrs and emptied by an outlet pipe in 6 hrs. How long

will it take to fill the tank if both the tap and the pipe are opened simuitaneously ?

(A) 18 hrs

(B) 9 hrs

(C) 12 hrs

(D) 10 hrs

Aot gl WOl As 2isl 4 saisHi o1l sy S 2 (s WY gt 6 sasdi widl 590 asiy 9.
g At el (st WY o0l Ag WA vlanl 20d dl d 20419 eRat 32 J2dl Ayy @8l ?
(A) 18 sals

(B) 9 sals

(C) 12 sels

(D) 10 $<l1s
The area of a rectangular field is 460 square metres. If the length is 15 per cent more than the

breadth, what is the breadth of the rectangular field ?
(A) 15 metres

(B) 26 metres

(C) 34.5 metres

(D) None of the above
25 GoLRYU Aotril B 460 A1 {2 69, A dou USlOUS Sl 15 251 a4 B, dl L ol

8otefl uslousS g & ?

(A) 15 123

(B) 26 22

(C) 34.5412

(D) GuAsd L4 21 ya R
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number obtained by interchanging the

7. The difference between a two-digit number and the e w0 digits of that number ?

positions of its digits is 36. What is the difference betW
(A)4

(B)9

©)3

(D) Cannot be determined

A AN A5 ol wA Arit Al BuRd-d 2earcied dR
dglde 36 €9, A Avyi-il A A 42 g asrad & 7

(A) 4

(B) 9

(C) 3

(D) 158l 4 53 usiy

8. A child bought a Dairymilk, a Five-star and a Perk chocolate,
numbers and are in decreasing order. Each item costs at least Rs. 9. ’
How many Five-star chocolates can he purchase with the amount required to purchase ten

Perks chocolates ?
(A) 10
(B) 12
©)9
(D) Cannot be determined
As oual s YMes, s s16aRR A s uf Asdz wlldl, I eudl yals Aani 9, qul
Y2l 40 . uds axg-l Bud 2Deoril 208l 3. 99, g wl 3. 30 8. ey yf A543 wdleal
W2 Fed) 25ull 32 W el smui 24l srdazel As@2 wilel usiu ?
(A) 10
(B) 12
©)9
(D) 155! «t 53 usly
9. A shopkeeper mixes 50 kg of rice flour worth Rs. 10 per kg with 75 kg of rice flour worth
Rs. 14 per kg. At what price per kg should he sell the mixture to gain 25% profit ?
(A) 14.5 (B) 15.5
(C) 16.5 D) 17.5
s goteiR 3. 10/- MR L. euadl 50 Bel vl A2 3. 14/- 4R 4L, oua-y 75 43
aluiet dlz i Bst s18, 25% 181 A 2 Al Pisiard dana uR Bsu suy oy s3g, A5 7
(A) 14.5 (B) 15.5
(C) 16.5 D) 17.5

quaani 2uddl Av adq)

the prices of which are integer
The total cost is Rs. 30,
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13. A committee of two persons 1s selected from two meén and two women. What is the pmbability

that the committee will have no man?
(A) 1/2
(B) 1/4
© 15
D) 1f6

&L Y0l A & Rl A alFind-d s AMR udis s A
€14 A+l Aeuar 2ad) ?

. ARRHL ASUA YN AR

A) 12
(B) 1/4
(C) 1/5
(D) 1/6

14. A bus for Ahmedabad leaves every 30 minutes from Gandhinagar depot. An enquiry clerk told
a passenger that the previous bus had already left ten minutes ago, and the next bus will be at
9:35 AM. At what time did the clerk give this information to the passenger ?

(A) 9:10 AM
(B) 8:55 AM
(C) 9:15 AM

(D) 9:08 AM

aitfloL2 Julell insiatedl o €2 30 {102 GU B, YeouRes 1A Hls HUE ¥ & UG
o et Birlle udal o Gudl 38 8, i ussl-l i AR 9:35 saud HHlad. i Rl sig 50

A g sl s ?
(A) Ul 9:10 saLb
(B) AAR 8:55 salk
(C) L} 9:15 sU3

(D) AR 9:08 se3
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16.

(i) ‘A+B’ means A is the father of B

(i) ‘A-B’ means A is the wife of B

(iii) ‘A x B' means A is brother the of B

(iv) "A / B’ means A is the daughter of B

Accordingly, If ‘P-R-+Q’ is given, which of the following statement is true 7
(A) P is the mother of Q (B} Q is the daughter of P
(C) P is the aunt of Q (D) P is the sister of Q

(i) ‘A+B’ +ll Hodt 4 D 3 A X B ) Qe

(i) ‘A-B’ -l Haat a S 3 AR Bl ucll @

(i) ‘AxB -l udas el 9 A R B-Aloud 8

(iv) ‘A/B' L udasi Ay 83 AR B A5 d

2L 4o, B P-RHQ" M 20§14 dl A U4 53 Mgt 21 B ?

(A) P Q -l Wil & B QAP
COPAQadled (D) PR Q+{l otdn B

Six girls are sitting in a circle. Sonia is sitting opposite to Radhika. Poonam is sitting immediate
right of Radhika, but immediate left of Deepti. Monika is sitting immediate left of Radbika.
Kamini is sitting immediate right of Sonia and immediate left of Monika, Now Deepti and
Kamini mutually exchange their positions. Monika and Radhika mutually exchange their
positions. After this arrangement, which of the following statement(s) will be correct?

I. Monika will be sitting opposite to Sonia,

2. Poonam will be sitting immediate right of Kamini.

3. Sonia will be sitting immediate left of Deepti.

{(A)Only 1 and 2 (B) Only 2 and 3
(C)Only [ and 3 (D) Data msufficient

¢ 5ksdlail 2ls adani A4 8. AR AR Ad ALl B, yeirt 2 ARSD drd WR, uig
€At et Siel ALl 9, {2 AR dct 38 64 B, 5B 2 AR et @D 2
RS et St A8l 3. g [Budl 2 AR 210U dil-l 2wl veaeedl 2 B,
RS 2ol AR 2441 ddlit 2en--ll ecloedl 53 &, i Alsael wedl DAzl sy

Mae/Mde-l 4oy sd ?

1. diells 2 AlfRue A a4l s

2. yrin A sl ac 4@ A4 ed),

3. A A el dad 48 A4 ed),

(A) 3t 1 ¥ 2 _ (B) A 2 %A 3

(C) vt I 21 3 (D) Rl 21yl &
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h as or more than their Hollywggg
Movic star pay may seem like ap
Chinese Communist Party. But he
uitural force 10 rival the soft powg,
nder that effort.

Directions for Q. 17-19 : Movie stars in China can make as muc
Counterparts. The Chinese government is not happy about that.
issue for producers and trade magazines rather than for the
government hopes to nurture the industry into an economic and ¢

1d hi
that Hollywood has long enjoyed around the world. Large payments eou

actor would not be permitted t,
began investigating whether the
one to be reported to the tay
ractice has come to be knownp

So officials moved to cap how much movie stars can make: leading
eam more than 703 of the full cast. The Chinese tax authorities alscf
movie industry was giving big-time actots two contracts, a public
department and a covert one promising a large bonus. In China, thc P

as “‘Yin and Yang contraets.” i 0 59
s sacl ay (sl 58 a3
YA NS 17-19 ¢ Ay sl g e UL
7-19 : A Aafis sl dul g A S et yetett 6 Pstfeid)

8. o0 L egtee
{22512 A A yau el aal@ sesr-l suel A cﬁg Ao el 20l st g

2 AU MRS B e Fell sl B, uig ¥ el st sl ?
B A0 Rzani 2 (@l 2af) Gelor) subls 21 AizgRs st $4U a2 Winandl Al e

A AN B, M2l Ysapit d nuceiA vadd uk D.
asdl 53 waiell AR sy

Al RNLBAN At saisR dedl suel s ud Al walel 5

seusiAAl sauell-l 70z &) ay sousll sl wrasoll dl A, afl~{l 53 uweela K‘*‘?l d‘l}L%t %Ea £l

3 g %l Gelol M2l selsiRA A sudl siudl ed), & 1A As AR 529U e AR S e:tl. B
- {

o Ag wuedll sAR M2l andy st sl edl. -G, 20 ped “lv A AL SARL” o}

A AH] 202 .

17.  Chinese government has imposed ceiling on the payments to movie stars because:

1. Chinese movie stars are involved in tax evasion using ‘‘yin and yang contracts’’.

2. Chinese Communist Party wants to prevent concentration of wealth among select individuals.

3. Chinese govemnment fears that large pay-cheques to film stars will stymie the growth of
Chinese movie industry.

Answer choices :

(A)1,2and 3 (B) Only 2 and 3

(C) Only 1 and 3 (D) Only 3

]+l U512 AR se AR s34 2uadl Bsagll v Halet 1A & s ¥

1. Al Bt sasd Al »a giol 537 A Gudlal 53U 520 K B,

2. aftel] AuaLg]l Y AL AGalML Ut AR AsBis@nl Asan HidL 0.

3, flfl u25127 *a B ¥ B sawsnAn G2l ysael Al ua@a Gelol ql&mi cena Yet 5.
opener [Asel :

(A) 1,223 (B) 1A 2 2R 3

(C) st 1 4 3 (D) w3

CSSC-GS-H-PKL-2018 - C] 8 [Contd.









Directions for Q. 23-24 : 1 have leamed much more from conducting my own random survey
before starting real estate projects, than I could ever have learned from the greatest of consulting
firms. They charge you $100,000 for a lengthy study. In the end, it has no conclusion and takes so
long to complete.
The other people 1 don’t take too seriously are the columnists and reviewers in newspapers. They
mostly write to impress each other. They don’t know what type of houses ordinary folks want!
You can create the most beautiful product in the world, but if people don't know about it, you'll not
earn much. You need to generate interest and create excitement. One way is to hire a PR-firm and
pay them a lot of money. But to me, that's like hiring cutside consultants to study a market. It’s
never as good as doing it yourself. (-Donald Trump, ‘The Art of the Deal’)
YA UR 23-24 : Pata D22 WF52 A3 sl udatl, WA W s sl wAdl § sy ol
s Qefla ay § et s, ydaedell v . Riagd e w2 avil 1,00,000 deR aya 52 9.
Yd, -l S8 Frsy] apadl el %A il (stoaiz) Yol s ael diod wux A 8.
W )8 3 FHA § o dielrdyds 2l Al Al AuaRudu seiR-AuEl 1A a8, dv 2
o131 2s6flonr, WOURA s3cll W2 @uicl $la B, Wt @A Ja ws ASH B, A eltoid AUA WOR
elcll w2l )
oA (g Aol e Grwtet erudl 18 ), uig A L) Al A et 2], dl a3 e 53 usel 4.
R (l3se (A 2 Vsl sl R, Graeit Gell 53l R, s Rl B & 35 Wour-53 A oyl Ak 244
el 8ol M)A 253 Yaell. u3g M W2, o G-l AUGAL SR M L1 Aellesil ol s g
8. A dR 2nd 5 A FG st el dig. (-d-tes 2y, 4 218 s )
23. According to Donald Trump, what are the essential qualities of a successful businessman?

1. He hires consultancy firm for feasibility studies.

2. He improves his product designs based on the newspaper reviews.

3. He hires a PR-firm before launching new product.

Answer choices :

(A) Only 1 and 2 (B) Only 2 and 3

(C)Only 1 and 3 (D) None of above

Aries 2aunl ¥, A5N Gedarufarl »iawys ARl 541 S 7

1. A2l AeRd-vrgadl et W2 sl Syl ol uw 8.

2. A0 vviend] wrlauvin 2w Wil W3se Bongriat YR 8.

3. -iat Ganerdl ol st udal A Ysmir-g o} uvl 8.

gy [Rseu :
(A) $5c 1 2R 2 (B) Mzt 2 ¥4 3
(C) L 1 %4 3 (D) Guaiel 215 Wt Al
24. From the passage, what can be inferred about Donald Trump’s attitude towards columnists and
consultants?
{A) Cynical (B) Contemptful
(C) Apathetic (D) Appreciative
gs1iell, 524U 21 uAleH dR Aries 234U qavt A g vt ud ud ?
(A) assell (B) [QRaslveiy
(€) crarelldln (D) naiy~ly
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e L4

cqarl YLD CUNLLL HBU

30 63 !
525 ol tadl dl.

mcll’-li
the following sent

YA U 25-30 : Ay Rasn Yo, AL wasUl .
el Asiaeell %2 B, el o sl Yl gt WAL

Directions for Q. 25-26 : Find synonym of the underlined word in

ences:

25. *‘The soldiers repulsed the enemy.’’

(A) repelled (B} destroyed
(C) rejected (D) defeated
26. ‘‘The soldiers showed an exemplary courage.”’
(A) flawed (B) ebullient
(C) boisterous (D) None of the above

Directions for Q. 27-29 : Fill in the blanks with appropriate word:

is as ct till now.
27. We should give everyone training in Yoga, but we have this aspe

(A} denied (B) neglected
(C) refused (D) disallowed
28. He___ theroleofthe organization in creating environmental awareness among the people.
(A) collaborated (B) commanded
(C) contrasted (D) commended

29. Most of the students have forgotten to bring their certificates; they willbe ______ by the

principal for this reason.
(A) reproached (B) reprimanded
(C) accused (D) abused
Directions for Q. 30 : Read the passage below, and then answer the question given below it:

Two Italian prisoners of war escaped from a prison camp in Kenya during the war. They did not try
to get back to their own countsy, for they knew that was impossible. Instead they climbed to the top
of Mount Kenya, and then they came down again and gave themselves up. They had wanted to get
that feeling of independence that one bas, after climbing a difficult mountain. It is a wonderful
feeling to reach the top of 2 mountain after climbing for hours and days. You look down and see the

whole country below you. You feel God-like.

30. Two ltalian prisoners escaped the camp and climbed to the top of Mount Kenyato
(A) escape to [taly.
(B) come down and give up.
(C) get the feeling of freedom.

(D) gain fame as mountaineers.

CSSC-GS-11-PKL-2018 - C] 12 ~ [Contd.



Directions for Q. 31

PR 31-33 2 Nalott ool wiryar 32 QA st oun 3.

3l.

32.

33.

~33 : Study the following table to answer the questions.

Year Sale of Mobile phoncs (in 000's)
2007 48,000
2008 40,000
| 2009 30,000
2010 25,000
2011 18,000
| 2012 40,000

@ Mol e sl-id At (000°4i)

2007 48,000

2008 40,000

2009 30,000

2010 25,000

2011 18,000

2012 40,000
The percentage increase in sales from 2011 to 2012 was
(A) 115% (B) 128%
(©) 122% (D) 118
2011 ol 2012 yHli Qi 251+ QU3 24l 8dl.
(A) 115% (B) 128%
(©) 122% (D) 118%
The sum of sales of mobile phones in the years 2009 and 2011 is equal to that in year
(A) 2007 (B) 2008
(C) 2010 (D) 2012
2009 21, 201 I+it a8l QloitSe Sleirit dauairil Al it v« daiedl 2 8.
(A) 2007 (B) 2008
(C) 2010 (D) 2012

The two years between which the rate of percentage change in sale of mobile phones is minimum
are and

(A) 2007 and 2008 (B) 2009 and 2010

. (C)Both Aand B (D) 2011 and 2012
Wonda Slrrit AR MAUd §91R0 R dgu B d A ay A, 8,
(A) 2007 4 2008 (B) 2009 A 2010
(C) AR Boin (D) 2011 %A 2012
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iding the world int0 the Eas‘d’fmd tg"EW"St- Howey,
India and Eurg !
without the tremendous industrial growth the differer'lce bimi;?s process of in diesn‘:c;l-ud hot
have been very great. Differences have been intensified bY " rironment that da alizatig,,
which has promoted greed tremendously. It has also created &7 eed then inevitably :isv]':;?t g.ive
time or opportunity to individuals to think. 1f mind is not encouraget, Wzatigy,
collapses.

34. I have always opposed the idea of div

. o . s34 A 3, Ay ¥y
& QUA yeffy 24wl 2ot adaaru Rl eﬁ%ll{a:?;d% ghlﬁmenr[l 2 ;Ei :‘L&

Rril, ouRd 243 yaly awl-l asiad vot o 1A el 2 3 DA D Lak
dstadll ay au-t seaid wed 8, FA ara vy u‘lﬂue'a M{‘;ﬁq jtlcuﬂi&m& Wy
ot B § eyl Ruirail s 3 e g well. A Ot Wi,

A Ul degR vRarfudl oisll W 8.
Which of the following title best expresses the central idea of
(A) Difference between the the East and the West

(B) Impact of Industrialization on our civilization

the passage?

(C) Advantages of Industrialization

(D) Disadvantages of Industrialization

(Fet W4l 5y s s52en dedly RaRA A dd s 53O 7
(A) MO 244 ydly 2ol a2 aslad

(B) 2rugll Argla w2 vilelPisza-l 202

(C) el ciold

(D) ¥telBisei-1 Aol

Directions for Q. 35-36 : Pakistan is scheduled to hold parliamentary elections on July 25. The
electoral contest has been billed as being between Nawaz Sharif’s Pakistan Muslim League (PML-N)
and Imran Khan’s Pakistan Tehreek-e-Insaf (PTI). Mainstream religious parties like the Jamiat-
ulema-i-Islam (JUI-F) and the JI will also fight elections under Muttahida Majlis-i-Amal (MMA)
alliance crafted by Pervez Musharraf. However, the real story of these elections is the army’s political
engineering that has created the space for hardline retigious parties. For example, Hafiz Saced's
terror-outfit Lash kar-e-Toiba (LeT) was allowed to set up a political party — the Milli Muslim
League (MML) — in August 2017. However, since the Election Commission of Pakistan (ECP) did
not register the MML as a political party, the LeT terrorists will now be contesting under the banner
of the Allah-0-Akbar Tehreek (AAT), a registered political party. Other hardline religious parties
participating in this election are the Barelvi Tehreek-e-Labbaik Pakistan (TLP)- an electoral front of
the Tehreek-c-Labbaik Ya Rasool Allah (TLYRA), and Ahmed Ludhianvi's banned sectarian
organisation Ahle-Sunnat Wal Jamaat (ASW]J, earlier Sipah-e-Sahaba). How many seats will they
actually win is not clear, though they could garner a sizeable vote share. In the process, they could
be “‘spoilers”” in the close contest between the PML-N and PTI in Pakistan.

CSSC-GS-11-PKL-2018 - C] 14 —



RUURRIS36. o
253 .
ARl (g TR i o,
24 8. Yo YRiqyey, o by

B e RS 9. Jeell 64168 e udle-) wba
BIR A UAUME 23y, el g
% 3, 2 Yeallad o

@l G‘llEEcLL‘i e qs-S-Srs (o) azd eletl] e
BURE g s, 0 S-Saeuy (FLUE-9) A TS um w232 Yuds
Rl quq ) A (PR 4564101y Aoy ssm el @sd,
LA, Ry g, ] Q-{:L'ﬁ MU o § 3 9 s wiBls el 2 oot ot B,
(RHANRAE) 3 WA w %‘6'1_ -2l Gasi sdowe 2017 4 Pl YRay dla
A5 B g g3 uell 49 o) Q:é“glgﬂ sell. Ay, WlRadirgriy Yol v (Sl ssmaad)
r 1

AL AS +{lydg UBGY oo 34 30 <o 25911 el stglnil ¢ Mectle-il-rs00 dgdls RAaidl)
4.

landslide majority

D) PEI'VIEZ Musharraf could become next PM of Pakistan with the help of hardline religious
parties.

L §5AML Guatsy wfadlvy, LTEN
w1y ?

(A) WEeti-(l @253 249 ool va 4G 523 wbls yalA Ml Ad 24 2w 2a B,
(B} 523 s vali-t wvsy, Rogus)] ity .

(C) 523 Bl el SHuA vt 24N i aZs %ol gl it SReil M2siad,
(D) W% Yude 523 wllsudl-l weeell Wilbetirdl >l asmied ool 1k 8.
36. Find correct set of hardline political parties of Pakistan?

WiERel-l Al el @D DA-umisld $4 dm sidl

(A) ASWIJ, AAT, TLP (B) TLP, TLYRA, PML-N

(C) AAT, MMA, MML (D) PTI, PML-N, JUL-F

WAL 583 WS -l AR A ) 216l ?

(A) ARy F, A, dRadl (B) dAandl, Adlecuuura, YRuRa-N+
(C) BREL, B3Bina, AHMAUAA (D) 1dl2u8, YRnsa-3-, Fyvud-vig
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d then answer the questions
Directions for Q. 40-42 : Read the information given below carefully an

that follow :

A, B, C, D and E are five cities of which three
station and three cities have a university each.
() Hill station has a university but has not a port.

(i) The industrial cities with universities do not have ports- | cities.

(iii) Two industrial cities have universities and C and D are not md“s“.la

(iv) D is not a port city. No port city has a university and B is 2 port ¢ity’ university

(v) None of the industrial cities has hill station. D is a hill station and £ has:L STINE .

-t w3 40-42 : (2 e HRAA srrepyds aidd wA udl A2 wsleu T o ;H I
A, B, C, D »\ E uid 933 8, il et >NedBus 28 8, A oicd B, Ay [sa 3
NAAL Y F £3s WA As yRaRA 8.

) RaRuui yRalRid @ uig ter «dl.

(i) YRR yad 2l P 2dQa de Wl

Giy A 2edBs 934 PR B A € 212 D A el PREI LN
@v) D 232 3\ viga A, A6 tigx Ui YRaR(A ol 21 B 3 o2 2R 8.

©) S wa WelBs 13 Ra Ras e, D As Ra R A E 4l 34
jversity ?

two are port cities, one a hil|

are industrial cities,

(2

R 8.

40. Which city has industries as well as a port but does not have a un

(A) A and D (B)D and B

©)B (D) C

st 9duE Gedodl Anes ois: @ uig yRaRiE 4l ?

(A)A2AD (B)D > B

©)B (D) C
41. Which two cities have ports ?

(A)Band C BYDand C

(C)Dand E (D) None of the above

S 0L Y8 YA 6ieA B ?

(A)BAAC (B)D ¥4 C

(C)DE (D) 2]l N yeL AR
42. Which industrial city does not have a university ?

(A)A (B)B

(H1e (D)D

s H1elRis 9 YAARE 4l ?

(AYA (B)B

©cC (D)D
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45. Which of the following must always be true?
1. Rishika musl take PR if she takes Corporate Finance.

2. Rishika must take Advertising if she takes Accounting-
3. Rishika must take Accounting if she takes Advertising.
Answer choices :

(A)1, 2 and 3

(B) 2, and 3 only

(C) I and 2 only

(D) 2 only

AA-nxitl 54 i wy €lg A6 ?

. R s QUR2 516t & © Al Al Yaur Adl % wsdl.
2. o slis NaGFE0L A D dl Agha Asarauia Adl ¥ usd.

3. 9 s N3RS A D dl Asll AsGlFEo Adl % ysdl.

gty Asey) :
(A)1,2313
(B) A 2 ¥ 3
(C) oL 1 ¥ 2

(D) Wt 2
Which of the following image is not following the pattemn of the remaining four images ?

D]t | O ¥ N\
) I KN -\ A\

0} (if (i) (v} v)

(A) () (B) (ii)

(©) (iv) D) (v)

P 141 56 2uglanl cudlAl 2R 2uglavill 2ot 2gd] -ofl ?

|t [ © ] ¥ [\
] | O 1A N/

()] )] (ili) (iv) v)
A) () (B) (ii)

(D) (iv) (D) (v)

CSSC-GS-IFPKL-2018 - C 20
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47.

483.

49,

Ekta is three time older

P s tre than Yogesh; Zaheer s half the age of Wahida. Yogesh is older than
€er. Which of the following can be inferred ?

han Wah;g,

(B) Ekta is older thap Wahida,

(C) Ekta is younger thap Wahida,
(D) None of the above,

4N sl R gey

' el A g, 0 9. Dila 2R i W B.
DA04iel 5§ gy oy e 3R alRel vl quel

(A) 93l ARy 534 WA B,
(B) ¥sdt Al s3q] 14 8.
(©) M5l al¥er s34 wye 8.
(D) GuAsctrtisl Ngygy a3

At an annual event, Gujarat university awarded 38 medals in footbail, 15 medals in basketball
and 20 medals in cricket. These medals went to a total of 58 students. Only 3 students got

medals in all the three sports. How many students received medals in exactly two sports only ?
(A)9

(B) I
© 1
(D) 12

s Us stelsyni, yoratd yRaadlEls, geollani 38 R, cuResllan 15 Asdl w1 Bleui 20
Al Sy suf. o

L Asell g 58 RensffoilA oy, wint 3 ReuslfoAN dast 494 el Asell
Hel. Seet Renell2A oo o e A wew ?

(A) 9

(B) 10

© 11

D) 12

If TEMPLE is coded as VHQURL, how would you code CHURCH ?
(A) EKYWIO

(B) EKUWIO

(C) EYWIN

(D) EKYWIO

A TEMPLE A VHQURL adl} ui3(as 53131 2 dl ¢} CHURCH A 3l 93 ai3Rs sl ?
(A) EKYWIO

(B) EKUWIO

(C) EYWIN

(D) EKYWJO

(A) Yogesh is older ¢
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(A) Eyes : Lashes : See

(B) Head : Brain : Think

(C) Skin : Sweat : Touch

(D) Feet : Dance : Toe .

AL : gl : g : 2L Al et Aol tctiaed 1 Al kg T W LD
(A) i) : yivel : g

(B) Mg : 3% : Rawrg

(C) el : YA\ : el

(D) W : ey : yarell 29l
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